OB 2023
i? LAST M I N UTE
Z  BOOSTER ===

@ siftawer © BB

"37<l It SELECTION UeRhT 81"
31T & 04 3T 2 2MTA 6 TA H 10 TA dh




IBPS RRB-2023 (LAST MINUTE BOOSTER)

What should come in place of question mark (?) in the following

question? (You do not ha ue.

Fraferfas g v wor /g (2) & T3 9 =T AT TR U? (3TUeh Gt v
Y TTUTAT i <Rl STTAY=AehaT g 21)

(111.93 x 5) ~ 14.02 = 11.002 +?

g x5 Eﬁ ||

—5
B. 10 10 .29 L

D. 34
= Lo-|

|
b
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What should come in place of question mark (?) in the following

’ﬁ,o/" question? (You do not have to calculate the exact value.)
G T2 W T =g (?) o TATH U AT AT ATRY? (ATUhT AR AT
AN TTUTET S <hT SATTIAhAT &1 21)

24.97%)of 84.01 -+ 6995

»%JW%
A3\LB6@

G

D. 12
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What should come in place of question mark (?) in the following
question? (You do not have to calculate the exact value.)
Freafefaa oo 7 ar =g (7) o T W ST 3THET T1Eu? (TR Jeieh °1H
T TTUMET T hT STATIehdT T2 1)

8.02 - (?-901)+(1092) = 120

12
4 (0T =2
24 E

C.21 D. .23

B 7@#‘“7#12\\ 120
TX=1\R
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What should come in place of question mark (?) in the following
question? (You do not have to calculate the exact value.)
Frateraa oo & wr =g (2) o T WX ST T TTfEu? (SATUehT Tish
AT <R ITUTAT A <h ATIIAHAT A& 1)

13 X + 200.02 =?
‘—J6 ‘:‘['?;T"Q —_——

4 23D
A.226  B.242 C. 256 D.351  E.248

L3 2 = 7

e
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What should come in place of question mark (?) in the following
question? (You do not have to calculate the exact value.)

FreteTRae vy 5wy g (2) o T2 @@ =T ST =RU? (SATUeh! @t

W T TUTT HE hT ATITARAT A1 21)
&)
6% 0f[(198 99) + @@\)2

A. 30 Bé7 g




c ReasoninEnglish. Out n% tudents who like
2 Maths@likes English alsof 82} dents like English,

41 of them like Reasoning als s@ ore students like
Reasoning@tof whiclk’ 22 like/Maths also. 17 students

lik¢ only)English.
Taremeft 2 S i fore=r nifora; aehoTfvr v sinstt uwe

F5
T T, 92 TR TS Y STy TR & & 30 S o
T hd 2. 82 Foremeft siistt ude s 3; A 41

ThITR W TEE hid 2. 35 3T Toremeft dehvte ude id
g o @ 22 nifora oft uwie e 2. 17 feremeff shaer st
mwﬁ% RRB PO Pre
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1. How many students are there who like Reasoning and English but
not Maths?

fora forammef i aehyrir 371X SIS usE otd © SfeRe TTioTd et
qHa A? Like
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2. How many students like all the three subjects?

IEGERE B IGIE IR 1R IR LG TG
Like M

S f0ng




IBPS RRB-2023 (LAST MINUTE BOOSTER) "=

3. How many students like at least two subjects?

foraa foremeff w @ = 2 foreT wwE A 22




Like M R

27
Q=
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In the following question two equations are given in variables x and

y. You have to solve these equations and determine relation between

x and y. /FETTeTRIa T2 | &1 THRIT = X ﬁ?yﬁﬁm%l
H‘H"]%h‘wﬁaﬁ A HEATE T x AN y %aﬁ%ruaarﬁra’rﬁaaﬂm%l

?>o?lé Z(jl’f‘é X - RRB Pre
1 <

@im) 12 Cx +

T-ape | 0
A.x>y B.x<y C.x2 D.xSy
E. x=y or No relation can be established

IS Teier TATUT T foRIT AT AehaT 8

<
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In the following question two equations are given in variables x and
y. You have to solve these equations and determine relation between

x and y.//Feaferlae war & St gHieRtoT =R x AR y # 2w e F) stuent

EL ) [ hY FT Sh{AT & 3 x 3T y o e daier
Z’(\((—g L{ ; \(E)(/{‘@* RRB Pre
I 2=(@+Q1%?®2\/1_=0 -
( Y,

I.A0y? - (A8 + )y + 9v13 =0
— /93
A.x>y ' \
ed

E. x=y or No relation can be éstak ] R

IS Tefer TATUT T oI AT AehaT 8 S ’
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In the following question two equations are given in variables x and
y. You have to solve these equations and determine relation between

x and y.//fFeterRaa ggr & 2 gHteRtor =R x 3R y # f2u v ) sty
T THISHIUTT hl BT ShiAT 8 3T x A y ok il Garel (i ohear 2

RRB Pre

. 5x% —12xO)9 =0
. 20y2 — 5y 2=0} Cutp

A. x>y B.x<y C.x2 D.xSy
L x=y or N@on can be establishe
CIERELEDIPT ?a“rﬁwrm;;’
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In the following question two equations are given in variables x and
y. You have to solve these equations and determine relation between
x and y.//FaferRae wer & St aHteRtor =) x 3R y ® f2u T ) erueny
ST THTRIUTE hl BT ShTAT 2 A x 3R y o der waer Freifa s 2l

RRB Pre

.0.3x2 +x50.8=0
Cp

1.0.02y?% + 0.03y(>)0.09 = 0

p——-

A.x>y B.x<y C.ny
E. x=y or No relation can be established

IS Teier TATUA T oI AT AehaT 8
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In the following question two equations are given in variables x and
y. You have to solve these equations and determine relation between

x and y.//FeafeTRae wer & St gHieRToT =1 x AR y # 2w T ) sruent

2 ?)@l I/Wﬁa@ﬁ\@m%aﬁ'{x ﬁ?y%ﬁawﬁaﬁﬂwg&”m

2
160G ~
K0 ‘g%ﬁ 5x? — 12X 9@ % =

e,

A.x>y B.x<y C.x2y D.xSy J\/L

E. x=y or No relation can be established

IS el TATIUT TE fRAT AT TehaT & G\(D




ety ;
ratio 0@ The students can s%eoak only Hindi or only
English or both Hindi and English. The number of the

boys and the number of the girls who can speak only
Hindi is équaDand Bach of them is 40% of the total

number of the girls./10% of the girls can speak both the
languages and 50% of the boys can speak only English.
80 BT Y et W ASTRaT 3R gk 3:5 F U@ H T
BT e &t ar shaer sttt a7 & ofiv oiisht 1 et
S Tehd & Shae [&at SIeT aTet TTgehl shl WEAT 3T eIgferat
T TEAT TR 7 TR ITH & Tk AS(RAT hl Hel HEAT
HT 40% Bl 10% TTSTRAT FHT WINTT TTeT Tehalt § SR
50% ﬂsgln ShaleT TS oTeT Uehd 2l RRB PO Pre




5. None of these RRB Clerk Pre
Hindi English
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2. How many boys can speak either only Hindy or’only English

fera ©Tgeh shaet &<t AT ShaeT SIS AT Uhd &
| 2.38 R Y | 4.29 \/S/N one of these RRB Clerk Pre
Hindi English

[+ RS =2

C_@> @
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3. In all how many boys do not speak Hindi?
it # foraa wrger & 78 Tiea 22

2.9 3.25 4. Data Inadequate 5. None of these
Hindi English  RRB Clerkpre




4. What is the percentage of all the §
Hindi?
Spare Fiet 7 aiver amer aeht At @t e
1.24 2.40 3.50 4.29 S. None of these
Hindi English
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Find out thn %%e following series:

FreateRaa saer AT, ST TAT MG:

186, 306

3. 186 4. 106 S. 306
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Find out the wrong no. in the following series:
fferiaa siaer & Treta dEar st uat orm:
&5
3, 9u31, 129,\/,6&

~
X2 X713 X 354 ﬁﬁ X54+¢
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Find out the wrong no. in the following series:
fferiaa siaer & Treta dEar st uat orm: RRB Pre
gl o
39, 12, 7.5
_ % R G 4 S

v \ﬂ/
-2 — 2
A |
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Find out the wrong no. in the following series:

ﬁmﬁ'ﬁ@lﬂwﬁmmmwm
80 120 1'

T‘Zm 7‘\}@ —20

1. 330 2.130 3. 240 4.120 S. 250

—_—
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Find out the wrong no. in the following series:

fferiaa siaer & Treta dEar st uat orm:

L

PPN
1 1 32 o8 PRGIUS
N~ \_/

X| X3 XS ><“+
1. 185 2. 61 3. 60 4. 1129 5.79

%
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Percentage of visitors (male and female) in a museum on the given 3 days-Friday,
Saturday and Sunday is depicted in the pie chart given below.

fag g 3 -y, v o o @t Uk @ueTerd § Tident (J69 3R
wfge) @ ufdvra e f2u 7o utg =ré # gvrtar )

Total number of visitors = 400

Ratio of the male visitors to
female visitors

Davs Male :
y Female

Friday 2:3 7
Saturday 7:5—
Sunday 5:4 -~

RRB Clerk Pre




en what was the total.Lnumber of visitors {male and female) on
‘@Xé? @ P 122K 5= K0

Tuesday? [

VAR T TATT H HIAR bl HATqeR! chl HEAT 1/5 FaTaT off) Afs TR &t 9oy
ATTART AR AT STTieRT ohl SHEaT T FUT 11:6 ¥, A HTETIR H1 AR (T67 3

HiTeT) hT HeT |t T of?

Total number of visitors = 400

Ratio of the male visitors to
(# female visitors

ljﬁg Days Male :

( M‘) Friday
N Y Saturday

Sunday




3

/1

Ratio of the male visitors to
female visitors

Male :
Female

Friday Saturday

Saturday 0%

Sunday RRB Clerk Pre

Days
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3. Out of the total number of visitors on(Saturday, 35% were adults. The cost for 1

léQZ”BMbadult’s ticket is double that for one child’s ticket. If the total amount collected from

X2

’{IO'D Hma T e?

(.v

selling tickets on Saturday was ¥8100. What is the cost of 1 adult’s ticket?
mﬁanaﬁ TR I THeT AEAT W, 35% TAEH | 1 TqEH o fehe Tt hIFd Tk T
%%maﬁaﬁ'rm?%l Wﬂﬁﬂﬂﬁ%&ﬁéﬂﬁﬁwrﬁraloo oft| 1 Ta%h & fehe hi

A. 200 R ? C

atal number of visitors = 400

B.%160 2H3S |20 ~L2 = igx% b < TR

C. %120 Ratio of the male visitorsdg
D.F100 = lf 2 female visitors

\% %30 \éb( Days
_ iz RL]X @ riday

SC graay

Sunday . RRB Clerk Pre
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4. What is the central angle corresponding to the number of visitors (male and female)

on Sunday (in degrees)?
TR Y SATTRT (T6W TR Tigeln) hi €T o To1g herar shior (it #) = 52
A.172.8°

B. 165.6° % (

C.16 LLS—
D. 154° (ggé‘o

E. 198°
Ratio of the male visitors to
female visitors

Male :
Female

Friday 2:3 Saturday
7:5 30%

Days

Saturday
Sunday 5:4 RRB Clerk Pre
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5. The number of female visitors on Friday was what percentage of the number

of female visitors on Sunday?
TIEHAR ohl HIGAT SR ohi TEAT UAAR Rl HIZEAT STTIIRT sl €GaT T fohamT
TferoTer oft? _

0 o &’25
A. 70% O%b/x o L‘q} ><(7

B. 85% 5 O
C. 80% = IS ¢ 2o
D. 65%

Ratio of the male visitors to Frida
o . .
J 75% | female visitors 25%,
Male :

Total number of visitors = 400

Days

Friday 2/\ 3 Saturday

°Z Saturday 30%

RRB Clerk Pre
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From a class a total of 200 students appeared in SBI PO
- examination consisting three papers Maths, Reasoning
and English. 56% of the students passed in Maths, 63%
passed in reasoning and 56.5% passed in English. 11%
students passed in Maths and reasoning, 8% passed
y in Maths and English. And 22% students passed in

all three. No student failed in all the three paper.

Teh el & HeT 200 BT THATATS Fratt wrem § wrfiret 3,

Rraw @7 uor Aer, AT 3R SIS ITie 2N 56% BT
- ~ TOTA |, 63% AT H 3R 56.5% AT W I7A0T g 11%
5074 56 5 — = (b o drater it st frfim & stot 71, 8% heret vra
=N G I ST T IO U T i1 0 22 BresEt o1 ur gul
A=RE/ cheit e ot g ot e e i g

RRB PO Pre
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1. How many students passed in Reasoning and Total = 200
English but not in Maths? Pass:

frfir st 3 ey fremeft sefiot g, srirsht Srfeem M=567  R=63%
ot § TE? .

(1) 69

2) 25

(3) 88
4)73
(5) None of these

E=56.5%

RRB PO Pre
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2. What is the ratio of number of students who Total = 200

passed only in Reasoning to the number of Pass:
M=56% R=63%

student who passed in English only?

ITATOT B T BTAT chl TEAT T ATATT AT 7
hHAE AT H BTAT shl TEIT o T AT hael
Sift & Sefiot T

(1) 4:5 R |\

(2) 5:4 = [3S 146
(3)5:7/ = 38 1 RB

4) 7:5 &]
(5) none of these ) E=56.5%

RRB PO Pre
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3. The number of students who passed in at Total = 200
most one paper is what percent of the total Pass:

[VELY./A
number of the students in the class?

3TTereR T 3TTerek Ueh | SUT g1 Ted BT shi
ﬁw&mmmﬁmﬁg&g;wmwm
IferTa 82 1

&6 = X X

M&S% *oz)
2)405% , N,

0 RS < |k’l/
3) 44% ZARESS7

@565% T~ ——
(5) none of these Z( géz ( M) E=56.5%

RRB PO Pre
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4. The number of students who passed in Maths Total = 200

only is what % of the number students who Pass:
passed | aper but not in M=56% R=63%
Reasoning? D
St IO & Teot BT ot e § et 8wt
BT chl HEAT T fehaATY, & U fewr iy Sfeter
U -
|

(1) 178.5%
(2) 197.5%
(3) 165%

4) 205%
3 Nowese

1S

RRB PO Pre




5. What is the difference between the number of
the student who passed in English and the
number of the student who passed in only
English?

ST | ITVUT 1 16T BTAT hil HEAT AR ha el
ST W ITATUT B ATeT BTAT hil AT oh ST T

S TR 52 K¢ 5, — U~
(1) 55

2)0 & - 42-§/

Qe a2 S

_ e B
(5) none of these — BS" O ( M
— )

RRB PO Pre
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What should come in place of question mark (?) in the following
question? (You do not have to calculate the exact value.)
FraferRae g W ooy =g (2) & TATH 91 ST AT AR U? (3ATUhl etk U
Y T e T Wﬁ%n

+ 2 1 £.14.001) =7
\/@99 985~ 6 00 + j_oo/>

C18

7“\j% e

RO




vessel contains mixture of milk and water in the ratio of 7:1
espectively. 24 liters mixture is removed from the vessel and if the
— quantity of remaining milk in the vessel is 56 liters, then find quantity of
water in the vessel initially.
T TR A g R UTHT ST fsror smeen: 7:1 % 1ot § 31 w6 7 24 7t
gL Trsror FeRTerT ST & SR A a1d § 919 ger <Rt AT 56 TieX B, A1 6 | &

H gt Y |/ AT hifsu)
(a) 11 liters /(b) 15 liters (c) 12 liters (d) 9 liters (e) 8 liters
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In the following questions, calculate Q; and Q,, compare them and answer
/%’P =%

_AP=B

frefafRaa aai 4, Q, 3R Q, 1 TUMAT Y, IR Tt i R Feferiaa
foreRedi & AR IS
fQ > Q, (b)IfQ; <Q; (0)IfQ; 2 Q; (d)if Q; S Q, If Q; = Q; or no relation

D

% according to the following options.

years older than Prashant. Find present age of Prashant.

otam o wrotier Y T 3Ty T AT 32 9 7 o raw, wetia & § AW agT R

Q;: 15 years.
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Ratio of ages of A 4 years later is 8:9 respectively. If average of
present ages 6f A & B is 47 yps., then find difference of present ages of A

& B. AR =LAX2= Q41T
4aﬁaﬁAaﬁ'{Bsﬁmaﬁrmﬁm 921 Tt A 3R B I Td0w=

mwaﬁ@ﬁAaﬁ'{Baﬁaﬁnﬁ T 3 AT i)

(a) S years (b) 6 years{c) 3 years (d) 2 years (e) 4\years
A A+t =9 it

=19
Q— RRB Pre

~——~>/ -
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A & B together can complete a piece il iork iays. Time taken by A

A+ QZ’ alone to complete the same work i ess than time taken by B
M
P = fL_ é__walone @comglete the same work. In how many days B alone will complete

J >
5P wor
eyt

12 go5A 3R B TeTeRt Teh o1l i 9 oAt W OX1 o Sehdl §| THTH ST o 3Tehel A
ol T U R | To7am 7ar aHa B g G9H T ol O A | o1 T ana o

% 7.5 B T 31 B ariher T BT 2/9 T by R 8 v a2
(a) 8 days (b) 6 days (c) 7 days (d)Sdays (e)4 days

3.5 S%Xg )
B= X = >R (f)
A
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7 A vessel contains mixture of milk and water in the ratio of 7:1
respectively. 24 liters mixture is removed from the vessel and if the

quantity of remaining milk in the vessel is 56 liters, then find quantity of

water in the vessel initially.

Teh I W gU 3R UTHT hT Fror sher: 7:1 o ST | 31 6 # 24 S
forsror FremTet STt & SR afe srd= 7 91w ger B W 56 e 2, O 9 W ad

T UTHT hl WTAT 31T shileTu)
(a) 11 liters (b) 15 liters (c) 12 liters (d) 9 liters (e) 8 liters
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What should come in place of question mark (?) in the following
question? (You do not have to calculate the exact value.)

FraferRaa wor v war g (2) & T W T AT TniEu? (SRt St v
Y TTUTAT i <Rl STTAY=AehaT gl B1)

2 _ —
(_@gg) v120.89 +vV144.06 =7

(2 M /‘/L(J
A. 35 B. 42 C. 37 D. 40 | DRR R

(=33
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What should come in place of question mark (?) in the following
question? (You do not have to calculate the exact value.)

FreaferRaa g & vy g (2) & T W =T AT TRU? (39T T 7
EﬁTI'UFITEI'T@‘Eﬁ IATATAHAT Tl Bl)

Q \/143 99 +\/64 01

&
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What should come in place of question mark (?) in the following

uestion? (You do not have to calculate the exact value.)
/\g%rur%rF@wsr%Tﬁsra%g (?) o TATH UX T AT ATRU? (HATUhR! TeTeh T
TTUTAT T ShT STTASIHRAT 781 2l)

34.02% of 550.09 +? = 297.07 +\/728 95

cir oz e Uy m‘%

24
#@{ﬁm 2 =97 +97
=8 F4+x= =320
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What should come in place of question mark (?) in the following
question? (You do not have to calculate the exact value.)
FrafeRaa v 5w g (2) o6 T wv ST ST T u? (SATUeh! |t A
oY TUTAT i <Rl STTAYAEHAT a1 21)

(7 +9.97) x 12,8 = 20.12% 0f 1319.97

70 E.5
& O
@wa%_ Jgﬁ
)38 =
410 = 2

}5‘0%&)
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What should come in place of question mark (?) in the following
question? (You do not have to calculate the exact value.)
FraterRaa v § wy g (2) o6 e @ =T ST =ieu? (SITeh! 9t A
Y TTUET T hT STATIehdT T2 1)

(V80.997 — V25.001) x (V120.98 +1/16.02) =7

A. 2m 30 T 2UC. 40 D502 E.607C
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4 )
Thank You




